A mix | BE KA HE R &8 G B &
1 100 11.78 | +1.9 [ M 1 |5EX 8 A 8% 1 BT = E R LS 04.29
1 100 11.78 | +1.1 |BE K& 2 |mMEME ZERER ZERE 05.29
3 100 11.88 | +15 [fER ®F * [M&K FEEEM %A 05.16
4 100 11.90 | +1.8 |ZEA #& * |M&K HEEFE [T 08.29
5 100 1201 | +11 [BN K= 2 |FARLEARE ZERER ZERE 05.29
6 100 12.02 | +0.4 ARG RE * [M&K BARZEFIE & 06.04
7 100 12.05 | +1.8 [ B 1 |EREX HEEFE [T 08.29
8 100 12.16 | +0.9 it BE 2 i% REEK HhE 06.19
9 100 12,17 | +0.3 |AWL i 3 2EX RBZENS HhiE 10.23
10 100 1221 | +1.8 [FEA #ME 2 -r-,uu.lﬂaﬁ';ﬁ REETFE [T 08.29

#E#A mix | BE KA FE R &8 G B &
1 200 24.29 | +0.6 |t o 1 [BEX BAEFIE & 06.04
2 200 2434 | +1.3 |FE&E W®F 2 |mMEME ZERERES ZERE 05.09
3 200 2452 | +0.7 |¥EI EH * |M&K REEFE [T 08.28
4 200 2453 | +1.0 [N KXZE 2 |FARLASE LEEHK iR 08.01
5 200 24.76 | +1.3 |it BE 2 |®4& ZERERES ZERE 05.09
6 200 2486 | +1.3 |BH BE 2 |FAILERE FEEREFHEGEES9ME) ZEEE 08.17
7 200 25.09 | +1.6 |k B 1 |EREX REEFHE HER 08.22
8 200 2524 | +1.3 |dl BE 3 |mEME ZERERES ZERE 05.09
9 200 2525 | +1.2 |ZBAE #& * |M&K HEETFE [T 08.28
10 200 2538 | -04 |EH BF 1 [EREX BARFEE #% 07.04

#A mix | BE KA FE R &8 G B
1 400 54.74 * T Ef * [M&K FEEEM %A 05.16
2 400 55.37 B RE 2 |FARLARE ZEREFE ZERE 07.11
3 400 56.60 | BW O#HE 2 |BHBEX REFE HhE 05.15
4 400 57.29 * | KEEET 1 |REBEKX LEHBERXE pipiu) 08.18
5 400 57.71 * |EEH BR 1 [EPEX REEFE [T 08.29
6 400 57.88 * B BRE 2 |BHBEX REFE HhE 05.15
7 400 58.33 *|FE B8 3 |B& REEK HhiE 06.18
8 400 59.24 * |FHE OEHE 2 |FARLEARE ZERERES ZERE 05.08
9 400 59.27 * KX FmM 3 —T-,uIJ.IEEfiﬁ HEER HhiE 06.18
10 400 59.67 * |BE OEE 4 S2EEX GEEN € ZERE 04.29

#E#A iR | BE KA FE R &8 G A&
1 800 2.13.77 * 5% BE 1 ,é% REEK HhE 06.19
2 800 2.15.20 * |[#El EF 2 |=E ik ZERE 07.30
3 800 2.16.04 * |=E BD 3 |#E REEK HhE 06.19
4 800 2.16.97 W A 3 |EE BEEK HhiE 06.19
5 800 2.17.03 * | AREBEER 3 |FBE ik ZERE 07.30
6 800 2.19.19 * & ES 2 |BF P ZERE 08.10
7 800 2.19.23 * |#EHA BF 2 |#k%F BIEEEHES ZERE 06.19
8 800 2.19.39 * leH mE 3 |F8FE ZERER ZERE 05.29
9 800 2.19.40 * |HOES 2 |#% ZERER ZERE 05.29
10 800 2.19.45 * BEHTH 2 |tHT ZEEER ZEEE 05.29

##R mix | BE KA FE R &8 FEIE B
1 1500 4.23.62 * |B-EYIX * | Try— FEEXM %A 05.15
2 1500 4.31.14 * |BE FE 2 | BEEK HhiE 06.18
3 1500 4.36.62 * |58 BE T BEEK HhE 06.18
4 1500 4.36.75 * 1B BE * | Try—= FEEEM %A 05.15
5 1500 4.38.98 * & ES 2 |Aa¥F Y aZ7RYuE v BERED 10.22
6 1500 4.39.29 * |#/K EH 2 |3 BEEK HhE 06.18
7 1500 4.41.98 * |=E BD 3 |#E BEEK HhiE 06.18
8 1500 4.44.23 * |[#El EF 2 |=ZE B ZERE 07.23
9 1500 4.44.40 * BH BE 3 |BERk ik ZERE 07.30
10 1500 4.44.63 * | ZHERIEF 1 |&% ZERER ZERE 05.28

A mix | BE KA FE R X&8 FEE =):c
1 3000 9.03.43 * |B-EYIX * | TYy—= FEEXM %A 10.11
2 3000 9.15.22 o = ) * | Try—= .a%FILREﬁE%ﬁ?M:;Ef £(53E) INERE 09.18
3 3000 9.18.75 * ko BF * |\ TvY— TAREVRF v LU D(E6H) #E 07.17
4 3000 9.25.40 * B8 #HE TV — TAREVRAF v LY D(E28) Z 06.17
5 3000 9.37.69 * | FE 2 |EE B3 2 REERsR L SL R R (BE4E) INERE 10.16
6 3000 9.38.68 * |AE BE * |\ TvY— TAREVRF v LU D(E28) Z 06.17
7 3000 9.41.45 * |#KR HF * | Tvy—= B2 REERsR{E SRR (E3E) INERE 09.18
8 3000 9.45.63 * 8AX & 3 |EHT B R RIFSEL B ELR) NERE 05.15
9 3000 9.53.35 * X EF * | ZEER 7o B R BE Al 3R F 4 (35 31E) mAET 12.18
10 3000 9.53.70 * 1B B * | Try— FEEEM %A 10.11

A mix | BE KA HE R &8 FEIE B
1 5000 152453 | * [B-EVIR * | Tyy—= NEFOVITLAREIVR LK 11.24
2 5000 15.24.66 | * &R MK TV Y— NEFOVITLAREVR LK 11.24
3 5000 155045 | * |HE #E * | Tyy—= NEFOVITLAREIVR LK 11.24
4 5000 1551.95 | * |’kO EF * |\ TvY— TAREVRF v LY D(ESH) R 07.14
5 5000 155489 | * |B@8 HWE * | Tvy—= NEFOUITAREVRA LK 11.24
6 5000 16.15.42 | * |hE §BE * | Tyy—= EEYL—H—=NL #HE 04.24
7 5000 16.34.86 | * |HEHEMBE * | Tyy—= NEFAVITTAREVR LK 11.24
8 5000 16.46.65 | * |#K EF * | Tyy—= NEFAVITTAREVR LK 11.24
9 5000 17.01.38 | * [IUTFEFEW 3 |fPmEX BiA KR IE## 57 = (55206/) BEE 04.18
10 5000 18.04.18 | * |88 ES 4 |=FX REFE HhE 05.15







A mix | BE KA HE R &8 G B & EE
1 10000 314493 | * |#R mK * |\ TvY— FREVIIIRE it 10.11 il
2 10000 322293 | * |BE HF * | Try—= £HAEXH it 09.24 *
3 10000 38.16.53 | * |IUTFEEWD 3 |[FEX REFE fitid 05.16 *
A mix | BE KA 2E R X&8 G B & EE
1| 100H(0.840) 1351 | -0.1 |BEA HF * |M&K bid== i N el IN=] 04.29 il
2| 100H(0.840) 13.88 | +0.9 [it BE 2 |B& BAR1I—REFIE it 10.15 BE R
3] 100H(0.840) 1487 | +09 |[AE BRE 2 |FAlLEE HESREFA B 10.23 *
4| 100H(0.840) 1495 | -16 |FEA #HE 1 [BXAEFEX BARFAE E3hva 05.22 TR
5|  100H(0.840) 15.03 | +0.2 [luO E 2 | KER&EEKX S 8% b (X [E] 37 K (5548[]) fE=HFF 08.18 *
6|  100H(0.840) 15.04 | +12 [ BREE 1 |FALAE ZERERES ZEEE 05.08 *
7| 100H(0.840) 15.19 | +1.2 [/hil #&F 1 |22 ZEEER ZEEE 05.28 *
8|  100H(0.840) 15.32 | +1.2 |FAE #E 2 |FAILERE ZERERES ZEEE 05.08 *
9|  100H(0.840) 15.38 | +1.4 [#E)IHH 1 2 |E4& ZEEER ZEEE 05.28 *
10{  100H(0.840) 1548 | +1.2 [#EARIZE 3 |mMEME ZERERES ZEEE 05.08 *
A iR | BE KA HE R =4 G B HE
1 400H 1.00.49 * |BW O#HE 2 |BHBEX REFE fotid 05.16 *
2 400H 1.02.72 * [EARICE 3 BHE BEEK fotid 06.19 *
3 400H 1.03.71 * I BF 3 |EBEX REFE fotid 05.15 *
4 400H 1.05.23 | =E BD 3 |#% ZEREFE ZERE 07.10 *
5 400H 1.05.60 TG S 3 |B&& BEEK fotid 06.19 *
6 400H 1.06.19 * |PH BB 1 |#S ZERERHA M AH 09.19 *
7 400H 1.06.57 G 5 3 |=8 BEEK fotid 06.19 *
8 400H 1.06.60 * PR OEE 4 |2BEX BARFE #% 07.04 *
9 400H 1.06.69 * [BILEEEE 2 |EE RESEHIA B 10.24 *
10 400H 1.06.89 * |PH HTF 3 |FARLEARE REEK fotid 06.19 *
A mix | BE KA FE R &8 G B EE
1 3000W 141373 | * |t%H #HEF * | BAREEE =M X R SRR (5E30E) mAET 06.05 *
2 3000W 15.20.04 | * |#&XK i 2 |#&5RA ZERERES ZERE 05.08 *
3 3000W 154358 | * |2%¥ BEF 2 | br3ED ZERERES ZERE 05.08 *
4 3000W 154435 | * |ROKBER 3 |EH ZERER ZERE 05.30 *
5 3000W 154530 | * |luOpIE 3 |EE BEEK fotid 06.20 *
6 3000W 1557.81 | * |ANKES 2 |&EEER RESEHIA B 10.23 *
7 3000W 16.09.49 | * |HFHAFYL 3 B 8 Mith X E k= (B 1E) =il 04.24 *
8 3000W 17.22.05 | * |[EJIluhAY 3 |BP ZERER ZERE 05.30 *
9 3000W 17.46.28 | * |HLt EBE 1 |&REAE ZERERHA M AH 09.18 *
10 3000W 18.36.95 | * |BAR %B 2 & RESEHIA B 10.23 *
A mix | BE KA FE R =4 G =):c EE
1 5000W 234724 | * |t% HF * | BAREEE ERIREES ZERE 04.17 *
2 5000W 245423 | * |R®J BEE 4 |EFEKX ZEREFE ZERE 07.10 *
3 5000W 26.50.51 | * |#B&X i 2 |#&5RA ERIREES ZERE 04.17 *
4 5000W 26.59.04 | * |ZE® BF 2 |[Evr3E¥ED ERIREES ZERE 04.17 *
5 5000W 28.03.89 | * |HOKER 3 |EH ERIREES ZERE 04.17 *
6 5000W 28.19.06 | * |ZFHFYYL 3 B i 4 ERIREES ZERE 04.17 *
7 5000W 20.19.94 | * |EWRKREE 2 |AEREER ZEREFE ZERE 07.10 *
8 5000W 29.35.83 | * |HJIUVMY 3 |BP HEETFE [T 08.28 *
9 5000W 30.24.10 | * |HLt BEEE 1 |&5RAE ZEREFE ZERE 07.10 *
10 5000W 31.28.08 | * |FEA %XEB 2 | ZEREFE ZERE 07.10 *
A iR | BE KA HE R &% G B EE
1 10000W 494150 | * |EH #HE * | BARREZE £AAREXM it 09.25 *
2 10000W 51.32.49 | * |R®&JI BE 4 |EFEX RBZENS fotid 10.24 *
| EE [ % |AZ (K% $F [FE (k&% [BEEess EE &=
1| 20000W 143568 * |t& EE eSS REREE TS | |02.14 EESS
R mix | BE KA HE R =4 G B EE
1 E Bk 1m70 * BB x# 2 (EXEE RESEHIA B 10.23 *
2 E Bk 1m65 * |BIE L 4 [EBX BXEEES(F4E) BX 08.14 *
3 E = Bk 1m63 * |BRT X 3 |WE HEM R ES(FE2E) HEME 05.01 *
4 E Bk 1m62 * |AFEEH, 2 |MBRE ZERER ZERE 05.30 *
5 E Bk 1m61 * MBRER 3 |WE REEK HhE 06.20 *
6 E Bk 1m60 * |AREER 3 |FARLEARE ZEREFE ZERE 07.10 *
7 E Bk 1m59 * |REE BX 3 |E4& ZERERES ZERE 05.08 *
7 E Bk 1m59 * & ESES 2 |FARLEARE ABBXEFES(FELE) ZERE 04.29 *
7 EE B 1m59 O |ME IR 1 |&REER ZEESRFA ef=kin 09.18 *
10 E Bk 1m58 N /O =< ) 2 |®F #hEETh A2 8k &= (55 3[E]) SHEE T & 06.05 *
10 E Bk 1m58 * [IiR FEX 3 |[FgE Y aZ7RYvE v BERZTUT7 L [10.24 *
A mix | BE KA FE R &% G B EE
1 #aBk 2m90 *  |fEE 1 |BXAEREX BiAXES B R (E4E) BEE 09.25 *
1 #ak 2m90 * EE EE 3 |mEH ZEREFE ZERE 07.10 *
3 #aBk 2m70 * R BE 1 |22 AP XEES(FE3E) ZERE 10.17 *
4 #aBk 2m65 * R ¥ * ZEERRE—X | FRESEFHEGEESE) ZERE 08.16 *
5 #aBk 2m40 * @ & 3 |EEB ZEREFE ZERE 07.10 *
6 #aBk 2m20 * |HHE BE 2 |EB AEMXEFES(FELE) ZERE 04.29 *
7 #aBk 2m10 N 2% 3 |22 ZEREFE ZERE 07.10 *




A mix | BE KA HE R &8 G B & EE

1 TENE Bk 6m54 | +1.8 |[HAFAEF * [iDEAR Rtk AL 07.11 il

2 FE g Bk 5m71 | +1.9 |BEESE *  |JACK BREFHEGEL14ME) FiE 08.14 *

3 TENE Bk 5m70 | -0.6 |[Ki& HEF 3 |iAXEE BEEK HhiE 06.18 *

4 FE g Bk 5m47 | -1.0 |&FE HME 1 |FALAE FEEREFHEGEES9ME) ZEEE 08.16 *

4 FE g Bk 5m47 | +0.2 |FHA FEE 2 |FARLEARE ZERERHA M AH 09.19 *

6 FE g Bk 5m39 | +0.3 |FAA ®EH 1 |BXAEREX BARZEE [E3jva 09.11 *

7 TENE Bk 5m35 | +1.0 [/hil #&F 1 |22 ZERERHA M AH 09.19 *

8 FE g Bk 5m34 | +1.1 [IUAB FK 3 |FBE B ZERE 07.23 *

9 FE g Bk 5m31 | +1.0 |8 F& 1 |mAHE EER—F4EHs HEHR 06.06 *

9 TENE Bk 5m31 | +0.8 |&£0O FEH 1 [EXE® ZERERHA M AH 09.19 *
A mix | BE KA FE R =4 FEE A& EE

1 =:3: 12m17 | +1.3 |FEESE *  |JACK ZEREFHE ZERE 07.10 *

2 == 12m02 | +0.9 | K HEF 3 |iAXEE ZEREFE ZERE 07.10 *

3 =24 11m68 | +0.9 |EHEEF | =EEER ZEREFE ZERE 07.10 *

4 =3 11m26 | +1.7 [&iR i 1 |BXAEEX BIRFAFA(E21H) 3y 09.15 *

5 =:3: 11m02 | +0.8 |B&&:K ¥ 2 |FARLEARE ERIREES ZERE 04.18 *

6 =24 11m00 | +1.6 A+ EE T 3 |FARLARE ZEREFE ZERE 07.10 *

7 =24 10m89 | +1.6 |k& &HE 3 |mMEHE ERIREES ZERE 04.18 *

8 =24 10m83 | +0.8 | k& LR 3 |R&RA ERIREES ZERE 04.18 *

9 =24 10m58 | +0.9 |[h# EIE 3 |FARLEARE ZEREFE ZERE 07.10 *

10 =24 10m49 | +1.9 |dh#t £ 2 |F8FE ZEREFE ZERE 07.10 *
A iR | BE KA HE R A4 gt B & EE

1]  fahi%(4.00) 14ms81 * [®h T8 3 |EffEX BARFAE 3y 05.15 *

2|  fafi%(4.00) 13m22 | #F 3 |FEX BARZEE [E3jva 09.12 *

3| fafi%(4.00) 12m45 * | THEHF 3 |WE ZERERES ZERE 05.09 *

4|  Fafik(4.00) 11m75 * |EHEIEF 1 | KEREBEX BFEFAEFEREFIE RE$2 10.21 *

5| fan#%(4.00) 11m72 * [hEF BR 2 |FAlLEE AHMEEERGELR) ZERE 04.29 *

6| Fani%(4.00) 11m36 * B BE 3 =8 ZEEERK =ERE 05.28 *

7| FaR#%(4.00) 11m26 * B0 F# 3 |FAlLEE ZEEERES ZERE 05.09 *

8| fafi%(4.00) 11m14 D2 2 A 14 2 |BEHE HESEHIA B 10.23 *

9| #aAi%(4.00) 11m11 * |fE %A 2 |FARLARE ERIREES ZERE 04.18 *

10| FaALi%(4.00) 10m99 R B 3 B ZERER ZERE 05.28 *
A iR | BE KA FE R =4 G A& EE

1| FA#&E1.0) 40m29 * |EE Bx 3 [mE —ERERES =EEE 05.08 *

2 P 884%(1.0) 39m67 * |BOEETF * |B%EY PEEEM %ih 05.16 *

3 M#23%(1.0) 38m39 * |SIEREE 3 |4l ZERERES ZERE 05.08 *

4]  M8EHL0) 38m33 | * [} EX 2 |FBILAE =SEEERHA mATH 09.19 *

5 M#23%(1.0) 38m06 * BB EW 3 |mMEWI ZERERES ZERE 05.08 *

6 M85 (1.0) 37m87 * X% KB 3 |2BEX REBEFEES 3 H 08.28 *

7 &% (1.0) 37m81 * KK BX 3 |BP ZERERES ZERE 05.08 *

8 M85 (1.0) 36m83 * |BE & 3 |=H ZERERES ZERE 05.08 *

9 8% (1.0) 36m36 * |EHEIEF 1 | KEREBEX B 75 & SE Sk = (55 20E) RE$2 08.11 *

10| FM#&#(1.0) 36m10 * |HIRERER FEEES FBESRFIEESE) —EEE 08.16 *
A i | BE KA FE R &8 G B HE

1| /N2 —1%(4.0) | 54m55 * |k BE 2 |hEX REBEREUSE i 10.23 Ll

2| N —1%(4.0 | 47m75 * KRR BX 3 |BP E#REES M Af 09.19 *

3| N2 —1%(4.0 | 46m40 | #F 3 |fPmEX HEETFE [T 08.28 *

4 No<w—#%(4.0 | 45m51 * |He 3 2 |ARB FEEREFHE(ESE) ZEEE 08.16 *

5| /N> <v—1%(4.0 | 41m10 XKl 8F 3 |ARB ZEREFE ZERE 07.10 *

6| NI —1%(4.0) | 40m95 * I HEF 2 |E&d BAI1—REFHE it 10.16 *

7| N —$(4.0) | 40m69 * |EH EB 4 |IREHEFX ZEREFHE ZEEE 07.10 *

8| /N> —#(4.0) | 36m56 * |BE #KE 3 |BP MBI XEEES(F2E) ZEEE 06.12 *

9| /N> —i%(4.0 | 33m99 * | B 2 |R4fH ZERERHA M AH 09.19 *

10| /"> < —#%(4.0) | 33m57 B BE 3 |ARB MBS XEES(F2E) ZEEE 05.15 *
A i | BE KA HE R =4 G B & EE

1 PYE 48m58 * W% HE 4 | KRAEEX KIRF A 5 RE%2 04.05 *

2 PYE 47m61 * |EFOMhE 2 |mEES ZERERHA M AH 09.18 BE R

3 Py 47m58 * |Hf EE 2 |EE HEEFE [T 08.29 BERH

4 Py 46m83 * |ffE %A 2 |FARLEASE ZERER ZERE 05.30 *

5 PY#E 46m76 * | KfE BAE 3 |EFEKX REFE HhE 05.15 *

6 PYE 45m25 * INMUEEF 3 | KRHEEX ZEREFE ZERE 07.11 *

7 PY#E 44ms87 * BX E#EE 3 |FARLEARE REEFE [T 08.29 *

8 PYE 42m60 *|4m BT 1 |fEX ZEREFE ZERE 07.11 *

9 PYE 41m15 e ERE 2 |WmE ZERERES ZERE 05.09 *

10 PYE 40m56 *|BREE HE 3 |WmE ZEREFE ZERE 07.11 *
A mix | BE KA FE R &8 G B & EE

1 TRERR R 4720 * |EEA #FEH 1 |BXAEEX BAD2=T7EFHEER %rh 06.13 *

2 TRERRR 4037 * AR WE 2 |FARLEARE ZERER ZERE 05.28~29 |*

3 TR 3755 * |BRK ED 2 |FARLARE ZERER ZERE 05.28~29 |*

4 TRERR R 3747 * |®His BF 1 |22 ZERER ZERE 05.28~29 |*

5 TR 3715 * |PE ER 1 |EREX IJUNRT 4 THRA(EISE) % 11.13~14 |*

6 TR 3678 * mt B 2 |mMEME ZERER ZERE 05.28~29 |*

7 TR 3441 *  |fgul * 3 |EEB ZERER ZERE 05.28~29 |*

8 TR 3251 * |EO X 3 |FARLEARE ZERER ZERE 05.28~29 |*

9 TR 3153 * |E FE 3 |FAILMA ZERER ZERE 05.28~29 |*

10 TR 3054 * |mi BRE 2 |f8EE ZERER ZERE 05.28~29 |*







A mix | BE KA 2E B A4 G B & EE

1 10k 33.29. * |#E mK * |\ TvY— AEN—TIFTYY & 02.07 *

2 10k 33.41. * B8 #HE * | Tyy—= 2AAEEAN—TISV Y B8 02.21 *

3 10k 34.04. - - * | Fyvy— REN—TIFTYY & 02.07 *
A mix | BE KA 2E B A4 G B HE

1 15k 51.03. * |#E mK * |\ TvY— hEN—TISVY & 02.07 *

2 15k 51.13. * B8 #HE * | Tyy—= L2BEAFEEAN—TISVY ER 02.21 *

3 15k 51.49. E- - * | Fry— HBEN—TIFTYY & 02.07 *
A w2 | BE KA HE R A4 g A& HE

1 20k 1.08.19. R mK * |\ TvY— hEN—TISVY & 02.07 *

2 20k 1.10.06. E- - * | Fyvy— RBEN—TIFTYY & 02.07 *
E#R B | RE K& HE R x££ g B & EE

1 25k 1.29.57. * |RE mK * |\ TvY— Z2EBRERXFISVY Z2EHE 03.14 *

2 25k 1.31.42. * |EHR B * | TFTry—= L2EEBREREXFISIVY Z2EHE 03.14 *
#A w2 | RE KA FE R =4 gt B EE

1 30k 1.50.03. * |#E mK * |\ TvY— L2EBRERXFISVY Z2EHE 03.14 *

2 30k 1.51.42. * |EHR B * | Tvy—= L2EEBRERERFISVY Z2EHE 03.14 *

3 30k 1.56.56. *  |HME HBE * | ZEER AEEEEXFIZ YV KR 01.31 *
E#A R | BE KA HE R =% gt B HE

1 N—72 1.11.57. * |RBE mK * |\ TvY— HBEN—TISVY h& 02.07 *

2 N—7 1.13.43. * B8 #HE * | TvYy—= 2HEAFEEAN—TISVY ER 02.21 *

3 N—72 1.14.01. E- - * | Fyvy— AEN—TIFTYY & 02.07 *

4 N—7 1.22.09 * |HME HBE | EEER WUAbIS VY B 11.14 *

5 N—7 1.23.50 * |#l BF | EEER WURbIS VY B 11.14 *

6 N—7 1.34.13 o T ) * | ZEER EEERN—TIISYY B 11.23 *

7 N—72 1.39.10 * |MTHEEHF * | ZEER ZEBN—IRZYY HhE 11.23 *
#E#A iR | BE KA 2E B =4 G B EE

1 IV 2.44.10. R mK * | Tyy—= L2EBRERXFISVY Z2HE 03.14 *

2 XRIVY 2.44.38. * |EW B TV Y— L2EBRERERFISV Y EZ2HE 03.14 *

3 IV 2.48.04. * |HME HBE * | ZEER AEEEEXFIZT YV KR 01.31 *

4 X3V 2.57.43. * |2A Bx * |MAMTFC KEEBREXFIIY Y PN 01.31 *

5 XIVY 2.58.50. * |#l BF | EEER Z2HEEREFITV Y Z2EHE 03.14 *

6 IV 2.58.56. * AE BT * | ZEER AEEEEXFIZT YV KR 01.31 *

7 XRIVY 3.00.12. * |EH #F * | ZEER L2EEEREFITV Y Z2EHE 03.14 *

8 XSV 3.28.14. * ude BRF * | ZERRA—X | RMEEHRYS Y U (EL17E) R 02.21 *
R w2 | BE K& HE R =% gt B & EE

1 5k W 24.04. * | RB OB 4 |EFEKX LAABRFHERR BHS 04.17 *

2 5k W 24.35. * |tH HE * | BARREEZE BHEATEO— F-5E FE R it 01.01 *
A w2 | BE KA HE R =4 gt B & HE

1 10kW 49.33. * | RBN OB 4 |EFEKX LAABRFHERR BE 04.17 *

2 10kW 49.44. * |tH HE * | BARREZE B &2 F #20kmEzE 5 EE 01.31 *
R i | BE KA 2E B =% G B HE

1 15k W 1.14.43. * |tH HE * | BARREZE B &2 F #20kmEzE 5 EE 01.31 *

2 15k W 1.21.32. * | RAI B 4 |EFEKX LAABRSBEEXR iz 10.31 *
E#A mix | AE KA 2E B A4 G B & EE

1 20kwW 1.41.15. * |t%H HE * | BARREZE B A2 F #20kmEzE 5 EE 01.31 *

2 20kW 1.42.26. * RS B 3 |EREX $HE 20 kmid B 03.14 *




1EB ik |[K4A Bl A& s 2] B F
1| 400R | 46.30 |RER HF -RGEIRE - I EMR - BH & M&K hEEEH BR 05.15
2| 400R | 47.02 [#F SHE-HBN KE-FE - Hh =58 EA FE 10.04
3| 400R | 47.22 |BmH HE-BN KE-fiH #WX-FH FE= FRIUEE |RESK Intd 06.19
4] 400R | 47.34 |¥@ SHBE-FE ImFm-/NELATH-LI BE MEME HESK Intd 06.19
5| 400R | 47.35 |BREEBEE-HX BEXE-WEF 25 -F% s MEHE BESRITA Bk 10.23
6| 400R | 4765 |ART EE-#BN KX-FAH #Mx-FH E=X FARLUERE |ZFESK —EEBE [05.29
7| 400R | 47.72 |Aa¥ HE-HX BTE-WH RE-FE K MEMHE BARI—XRFIE Intd 10.17
8| 400R | 48.16 |#i# =P ImFm-NEALTH-FIL BE MEME =EREEK =ERE [05.29
9 400R | 48.42 |F% -+ EEX-Elbh-E 2 BX 24 BB Intd 06.19
10| 400R | 4853 |&H HE-HBMN KE-AH #Wx-IUXFLEH FRILERE |ZEEEFHE =—EFE8E [07.10

1EB ik [K4A Bil] A& st EEREES
1| 1600R | 3.51.57 [AR #HEF-HH FEF -FH ZEE-HBN KR FRILARE [ZEESRHA mATH 09.19 |*
2| 1600R | 3.52.54 [A/R ImfE-#AK ZFMHE-BN BKE-FH EE FRIUEE |RESK Intd 06.20 |*
3| 1600R | 3.54.15 |AA HEHE-=H FTEHF-FE RE-BN KR FRUEE |RESKRIFA Bk 10.24 [*
4] 1600R | 3.58.31 |Blf mmfE-HH FE & REX-FH ZE= FRILERE |FHEETFE WA 08.29 |*
5| 1600R | 3.59.97 [{## KE-#8K FM-AE KE-HBN KE FRIUERE |ZEREFHE g8 |[o07.11[
6| 1600R | 4.00.68 [F)Il AZE=-it EE-SF BE-FE PR £ —EHEEK =F8% [05.30[
7| 1600R | 4.01.43 [dt)Il BE-vatt E=F-/MNEMTH-EABICE MEME BUBETFIE WA 08.29 |*
8| 1600R | 4.02.19 [ZFH #EZE=-HJI HF- WA BKA-FE EEM MMETHTE BaEaR Intd 06.20 |*
9| 1600R | 4.02.20 | AR{Z=-mE KIE-TaFT EX-F1U #F MEME BaEaR Intd 06.20 |*
10| 1600R [ 4.02.47 |1l #&F-/NMNEMT H- TN EF-EABCE mEHE —EHEEK =F8% [05.30[




